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STATE BANKOF INDIA 08

TEST -1
TESTOFREASONING

Q.1. In a class of 60 students number of boys and girls participating in the annual sports is in the ratioof
3 : 2 respectively. The number of girls from the class not participating in the sports is 5 morethan the
boys fromthe class who are not participating in the sports. If the number of boys participatingin the
sports is 15, how many girls are there in the class?

a) Data inadequate

b) 20

c) 25

d) 30

e) None of these

Read the following information and answer the questions given below:

(i) P, Q, R, Sand T finished the work, working from Monday to Saturday, one of the days being holiday,
each working overtime only on one of the days.

(ii) R and T did not work overtime on the first day.

(iii) Q worked overtime the next day after the holiday.

(iv) The overtime work done on the previous day of the holiday was by R.

(v) There was a two days' gap between the days on which P and Q worked overtime.

(vi) P worked overtime the next day of the overtime day of S.

Q.2. When did T work overtime?

a) On the day previous to that on which S worked overtime
b) On the next day of the day on which Q worked overtime
c) Two days after the day on which S worked overtime

d) Cannot be determined

e) None of these

Q.3. How many days' gap was there between the days on which P & T worked overtime?
a) Three

b)Two

c)One

d) Cannot be determined

e) None of these

Q.4. On what day did R work overtime?
a)Monday

b) Tuesday

¢) Thursday

d) Friday

e) None of these

Q.5. Which of the following is the correct statement?
a) P worked overtime, last among them
b) P worked overtime earlier than S
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c) The holiday was on Friday
d) S worked overtime earlier thanQ
e) None of these

Q.6. In a certain code ‘acquisition or construction should be completed within three year'siswritten as
‘three be or within should years construction completed acquisition.” How will'interest paid on loan
will be allowed for deduction’ be written in that code?

a)for will paid allowed loan on deduction be interest

b)for will allowed paid loan deduction on be interest

c)for will paid allowed loan deduction on be interest

d) for will paid allowed loan deduction be on interest

e) None of these

Q.7. Which of the following will be the changed form of the word OBLIQUE when word is written
againby substituting each vowel by the 2nd letter following it in the English alphabet and each
consonantis substituted by the 3rd letter following it in the English alphabet?

a)MEDGTSD

b)RDNLSXH

c)QEOKTXG

d)QEOKTWG

e) None of these

Q.8. If a meanigful word can be formed using the five letters NWROD, each only once, then the
fourthletter of that word is your answer. Ifmore than one such word can be formed then Y is your
answerand if no such word can be formed then ‘Z’ your answer.

a)D

b)wW

c)R

dy

e)Z

Q.9. Pointing towards a girl in the picture Sunita said, "She is the mother of Renu whose father is my
son". How Sunita is related to that girl in the picture.

a)Mother

b) Aunt

c) Cousin

d) Data inadequate

e) None of these

Q.10. P's father is Q's son. M is the paternal Uncle of P and N is the brother of Q. How is N related to M?
a) Brother

b)Nephew

c) Cousin

d) Data inadequate

e) None of these

Read the following information and answer the questions given below:
(i) A, B, C, D, E, F & G are sitting along a circle facing at the centre and are playing cards.
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(i) E is neighbour of A& D
(iii) G is not between F and C.
(iv) F is to the immediate right of A

Q.11. Who are the neighbours of B?
a)CandD

b) Fand C

c)AandF

d) Data inadequate

e) None of these

Q.12. Which pair given below has the second person sitting immediately to the right of the first?
a) CB

b)DG

c) EA

d) AB

e) None of these

Q.13. Which of the following has the persons sitting adjacent to each other from left to right in order
asgiven?

a)CDG

b) EDG

c) BGC

d) FBC

e) None of these

Q.14. What is the position of F?
a) To the immediate left of A

b) To the immediate right of B
c) 2nd to the right of C

d) 3rd to the left of D

e) None of these

Q.15. Which of the following does not have the pair sitting adjacent to each other?
a) BA

b) CB

c) DE

d)GD

e) All are sitting adjacent to each other

To answer these questions study the following arrangement :
JY2=S£EGM*7$SHP9KL@WQ13#CDO

Q.16. Howmany such symbols are there in the above arrangement each of which is either
immediatelyfollowed by a number or immediately preceded by a letter, but not both?

a) Nil

b) 1

c)2
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d)3
e) None of these

Q.17. How many such letters are there each of which is either immediately followed by a number
orimmediately preceded by a symbol, but not both?

a)4

b) 5

c)6

d)7

e) None of these

Q.18. How many such numbers are there each of which is either immediately followed by a symbol
orimmediately preceded by a letter, but not both?

a)2

b) 4

c)3

d) 5

e) None of these

Q.19.‘2YS isto ‘EG £’ in the same way as ‘PHK’ is to—
a)@WwL

b)waQ

c) @BQ

d)@WK

e) None of these

Q.20. Four of the following five are alike in a certain way based on the positions of the elements in
theabove arrangement and hence form a group.Which one does not belong to the group?
a)2YCD

b) £S13

c)JS©3

d)£E1IW

e)=#2C

Below in each questions are given two statements (A) and (B). These statementsmay be
eitherindependent causes or may be effects of independent causes or a common cause.One of
thesestatementsmay be the effect of the other statement. Read both the statements and decide
whichof the following answer choice correctly depicts the relationship between these two statements.
Mark answer a) if statement (A) is the cause and statement (B) is its effect.

Mark answerb) if statement (B) is the cause and statement (A) is its effect.

Mark answerc) if both the statements (A) and (B) are independent causes.

Mark answerd) if both the statements (A) and (B) are effects of independent causes.

Mark answere) if both the statements (A) and (B) are effects of some common cause.

Q.21.
(A) Huge tidal waves wrecked the vast coastline early in themorning killing thousands of people.
(B) Large number of people gathered along the coastline to enjoy the spectacular view of sunrise.
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Q.22.
(A) The Govt. has suspended several police officers in the city.
(B) Five persons carrying huge quantity of illicit liquor were apprehended by police.

Q.23.
(A) The traffic police removed the signal post at the intersection of two roads in a quiet locality.
(B) There have beenmany accidents at the intersection involving vehiclesmoving at high speed.

Q.24.

(A) The local steel company has taken over the task of development andmaintenance of the civicroads in
the town.

(B) The local civic body requested the corporate bodies to help them maintain the civic facilities.

Q.25.

(A) Majority of the students in the college expressed their opinion against the college
authority'sdecision to break from the university and become autonomous.

(B) The universityauthority has expressed its inability to provide grants to its constituent colleges.

In each questions below is given a statement followed by two assumptions numbered | and .
Anassumption is something supposed or taken for granted. You have to consider the statement andthe
following assumptions and decide which of the assumptions is implicit in the statement.

Give answer a) if only Assumption | is implicit.

Give answer b) if only Assumption Il is implicit.

Give answer c) if either | or Il is implicit.

Give answer d) if neither I nor Il is implicit.

Give answer e) if both | and Il are implicit.

Q.26. Statement:The General Administration Department has issued a circular to all theemployees
informing them that henceforth employees can avail their lunchbreak at any of the half-hour slot
between 1.00 p.m. to 2.30 p.m.

Assumptions: I. The employeesmaywell come the decision and avail lunch break at differenttime slots.
Il. Theremay not be any break in the work of the organization as the employeeswill have their lunch
break at different time slots.

Q.27. Statement:TheGovernment has decided against reduction of prices of petroleumproductsthough
there is a significant drop in the crude oil prices in the internationalmarket.

Assumptions: I. The prices of crude oil in the international market may again increase in thenear future.
Il. The present price difference of petroleum products will help the governmentto withstand any
possible price rise in future.

Q.28. Statement:The Govt. has made an appeal to all the citizens to honestly pay income taxand file
returns reflecting the true income level to help the Government to carryout developmental activities.
Assumptions:l. People may now start paying more taxes in response to the appeal.

Il. The total income tax collectionmay considerably increase in the near future.

Q.29. Statement:The state Government has decided to appoint four thousand primary schoolteachers
during the next financial year.
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Assumptions: I. There are enough schools in the state to accommodate four thousandadditional primary
school teachers.

Il. The eligible candidates may not be interested to apply as the Governmentmay not finally appoint
such a large number of primary school teachers.

Q.30. Statement:The school authority has decided to increase the number of students in each classroom
to seventy from the next academic session to bridge the gapbetween income and expenditure to a
larger extent.

Assumptions: I. The income generated bywayof fees of the additional studentswill be sufficientenough
to bridge the gap.

Il. The school will get all the additional students in each class from the nextacademic session.

In making decisions about important question, it is desirable to be able to distinguish between ‘strong’
arguments and ‘weak’ argument. ‘Strong’ arguments are those which are both importantand directly
related to the question. ‘Weak’ arguments are those which are of minor importance

and also may not be directly related to the question or may be related to a trivial aspect of
thequestions.

Each question below is followed by two arguments numbered | and II. You have to decide which ofthe
arguments is a ‘strong’ arguments and which is a ‘weak argument’

Give answer a) if only argument | is strong.

Give answer b) if only argument Il is strong.

Give answer c) if either | or Il is strong.

Give answer d) if neither | nor Il is strong.

Give answer e) if both | and Il are strong.

Q.31. Should the parents in India in future be forced to opt for only child as against two or many
atpresent?

Arguments: l. Yes, this is the only way to check the ever-increasing population of India.

Il. No, this type of pressure tactic is not adopted by any other country in theworld.

Q.32. Should the sex determination test during pregnancy be completed banned?
Arguments: l. Yes, this leads to indiscriminate female feticide and eventually will lead tosocial
imbalance.

Il. No, people have a right to know about their unborn child.

Q.33. Should all the slums in big cities be demolished and the people living in such slums be
relocatedoutside the city limits?

Arguments: I. No, all these people will lose their home and livelihood and hence they shouldnot be
relocated.

Il. Yes, the big cities need more and more spaces to carry out developmentalactivities and hence these
slums should be removed.

Q.34. Should there be completed ban of mining coal in India?
Arguments: l. Yes, the present stock of coal will not last long if we continue mining at thepresent rate.

Il. No, we do not have alternate energy source sufficient quantity.

Q.35. Should there be uniforms for students in the colleges in India as in the schools?
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Arguments: . Yes, this will improve the ambience of the colleges as all the students will bedecently
dressed.

1. No, college students should not be regimented and they should be left tochoose their clothes for
coming to college.

In the following questions, the symbols@, #,%, * and $ are used with the followingmeaning asillustrated
below :

‘P @ Q' means ‘P is not smaller than Q'

‘P # Q" means ‘P is not greater than Q'

‘P % Q' means ‘P is neither greater than nor equal to Q'

‘P * Q" means ‘P is neither smaller than nor greater than Q’

‘P $ Q' means ‘P is neither smaller than nor equal to Q.’

Now each of the following questions assuming the given statements to be true, find which of thethree
conclusions |, Il and Ill given belowthemis/are definitely true and give your answer accordingly.

Q.36. Statement:M % R, R# T, T* N
Conclusion: . N *RILNSRILN S M
a) All follow

b) Only either | or Il follows

c) Only either I or Il and lll follow

d) Only either I or lll and Il follow

e) None of these

Q.37. Statements: J#N, K@ N, TS K
Conclusions: . J% TILTSNIILN @ J
a) None follows

b) Only I and Il follow

c) Only I and Il follow

d) Only Il and Ill follow

e) All follow

Q.38. Statements:B*D, D@ H,H % F
Conclusions: . B*FILBSFIIL.DSF
a) None follows

b) Only either | or Il follows

c) Only either | or Il and Ill follow

d) Only Il follows

e) All follow

Q.39. Statements:TSK, K#R, R* M
Conclusions : . M * KIl. M % T IIl.LM $ K
a) All follow

b) Only either | or lll follows

c) Only either | or Il follows

d) Only either Il or Ill follows

e) None of these

Q.40. Statements:V @ M,ASM,R#V
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Conclusions: . R#AIL.V @ Alll.RS M
a) Only | follows

b) Only Il follows

c) Only Il follows

d) None follows

e) All follows

Each of the questions below contains three elements. These three elements may or may nothave some
linkage. Each group of the elementsmay fit into one of the diagrams at a), b), c), d)and e). You have to
indicate groups of elements in each of the questions fit into which of thediagrams given below. The
number of the diagrams is the answer.

(BPOE

a)b)c)d)e)
Q.41. Cloth, Cotton, Shirt
Q.42. Paper, Stationery, Ink
Q.43. Iron, Lead, Nitrogen
Q.44. Classroom, Blackboard, School
Q.45. Hockey, Football, Cricket

Below is given passages followed by several possible inferences which can be drawn from the facts
stated in the passage. You have to examine each inference separately in the context of the passage and
decide upon its degree of truth or falsity.

Mark answer a)If the inference is definitely true, i.e. it properly follows from the statement of facts
given.

Mark answer b)If the inference is ‘probably true’ though not though not ‘definitely true’ in the light of
the facts given.

Mark answer c)If the data are in adequate, i.e. from the facts given cannot say whether the inference is
likely to be true or false.

Mark answer d)If the inference is probably false, though not ‘definitely false’ in the light of the facts
given.

Mark answer e)lf the inference is definitely false, i.e. it cannot possibly be drawn from the facts given or
it contradicts the given facts.

Economic liberalization and globalization have put pressures on Indian industry, particularly on the
service sector, to offer quality products and services at low costs and with high speed.

Organizations have to compete with unequal partners from abroad. It is well recognized that developing
countries like India are already behind other countries technologically, in many areas, although some of
them particularly India, boast of huge scientific and technical manpower. In addition to this, if an
entrepreneur or industrialist has to spend a lot of his time, money and energy in dealing with
unpredictable services and in negotiating with the local bureaucracy, it can have a significant dampening
effect on business.

Q.46. No other developing country except India claims that they have highly trained
technicalmanpower.
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Q.47. Foreign companies are more equipped than domestic companies to provide quality service in
good time.

Q.48. Official formalities are less cumbersome in almost all the countries except India.
Q.49. Indian service industry wasmore comfortable before economic liberalization.

Q.50. India at present is to some extent on par with developed countries in terms of technological
development.

TEST - 1l

TESTOFNUMERICALAPTITUTE

Q.51-55.What approximatevalue should come in place of the question mark (?) in the following
questions?

Q.51. 724.998 + 24.048 + 14.954 =7
a)8

b) 13

c)2

d) 10

e) 16

Q.52. (848.999 + 274.052) + 3.0054 =?
a) 940
b) 836
c) 184
d) 298
e) 374

Q.53. ¥/84900= ?
a) 56
b) 44
c) 67
d) 33
e) 21

Q.54. 18.5% of 425 + 16.2% of 388 =?
a) 141
b) 224
c) 116
d) 183
e) 215

Q.55. 18.345 x 19.068 x? = 11538.93375
a) 46
b) 61
c) 27
d) 33
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e) 55

Q.56-60.Study the following Pie-chart carefully and answer the questions given below:
StatisticsofSurveryon the food item's preference of thepeople conductedon asample of 30000 people

“egetables

Q.56. What is the total number of people preferring vegetables and those preferring sprouts?
a) 11900

b) 12300

c) 12500

d) 11500

e) None of these

Q.57. What is the difference between the total number of people preferring meat to the total number of
people preferring fish?

a) 150

b) 200

c) 300

d) 350

e) None of these

Q.58. People preferring fruits are approximatelywhat per cent of the people preferring vegetables?
a) 48
b) 35
c) 46
d) 37
e) 30

Q.59. Out of the total sample population, howmany people have given preference for fish?
a) 1600

b) 1800

c) 1500

d) 1400

e) None of these
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Q.60. What is the respective ratio of the number of people preferring meat to the number of people
preferring salad?

a)2:5

b)3:5

c)2:3

d)4:3

e) None of these

In the following number series only one number is wrong. Find out the wrong number.
Q.61.529 841 961 1296 1681 1849 2209

a) 1296

b) 841

c) 961

d) 1681

e) None of these

Q.62.13 1427 4568 109 177
a) 27

b) 109

c) 45

d) 68

e) None of these

Q.63. 14 22 34.5 55.5 87.25 135.875 209.8125
a) 55.5

b) 34.5

c) 135.875

d) 87.25

e) None of these

Q.64. 274 301 426 769 1498 2824 5026
a) 301

b) 426

c) 769

d) 2824

e) None of these

Q.65.4 28 160 990 6970 55832 502560
a) 160

b) 990

c) 55832

d) 6970

e) None of these

What should come in place of the question mark (?) in the following questions?
Q.66. 89.4 x 412.8x 648.1= 16?
a)41.8
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b) 16.2
c)18.4
d) 25.6
e) None of these

8 +7%3.5
Q.67. 52
a)2
b) 6
c) 10
d)3

e) None of these

0.7

164011, 7 5
Q.68.417 116 vl

a) 12>
17

e) None of these

Q.69. (15)* + (10)* + (6)* = (?)*
a) 130321

b) 361

c) 103041

d) 17

e) None of these

Q.70. 12% of 840 x 0.25% of 148 =?
a) 37.296

b) 101.17

c) 68.432

d) 97.046

e) None of these

Q.71. A shopkeeper sells 200 metres of cloth for Rs. 9000 at profit of Rs. 5 per metre.What is the cost
price of 1 metre of cloth?

a) Rs. 45

b) Rs. 40

c) Rs. 35

d) Rs. 30

e) None of these

Q.72. The area of a circle is 1386 sq. cms. What is th circumference of the circle?
a) 142 cms.
b) 160 cms.
c) 130 cms.
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d) 132 cms.
e) None of these

Q.73. In colleges a total number of 27 professors are appointed for all the faculties viz. Arts, Commerce
and Science. If equal numbers of professors are appointed for each of the faculties, how many
professors are assigned to each faculty?

a)9

b) 12

c)6

d)3

e) None of these

Q.74. If (11)2 is subtracted from the square of a number, the answer so obtained is 135. What is the
number?

a) 12

b) 18

c)17

d) 13

e) None of these

Q.75. If the cost of 7 kgs. of rice is Rs. 168, what is the cost of 105 kgs. of rice?
a) Rs. 2580

b) Rs. 2530

c) Rs. 2520

d) Rs. 2500

e) None of these

Q.76. Seema andMeena divide a sum of Rs. 2500 in the ratio of 3 : 2 respectively. If Rs. 500 are added to
each of their shares, what would be the new ratio formed?

a)2:3

b)3:4

c)5:4

d)a:3

e) None of these

Q.77. Sridhar invests Rs. 3750 in shares, which is 25% of his monthly income. What is his monthly
income?

a) Rs. 12000

b) Rs. 15000

c) Rs. 10000

d) Rs. 16000

e) None of these

Q.78. Find the average of the following set of scores.
302,152,132,122,112

a) 184

b) 165

c) 152
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d) 176
e) None of these

Q.79. A bus covers a distance of 172 kms in 4 hours. What is the speed of the bus?
a) 52 kms./hr.

b) 47 kms./hr.

c) 43 kms./hr.

d) 38 kms./hr.

e) None of these

Q.80. The total numbers of students in the school are 4800, out of which 60% are girls. What is the total
number of boys in this school?

a) 1920

b) 1934

c) 1980

d) 1910

e) None of these

Each of the questions below consists of a question and two statements numbered | and Il. You have to
decide whether the data provided in the statements are sufficient to answer the question.

Read both the statements and—

Give answer a) if the data in Statement | alone are sufficient to answer the question, while the data in
Statement Il alone are not sufficient to answer the question.

Give answer b) if the data in statement Il alone are sufficient to answer the question, while the data in
Statement | alone are not sufficient to answer the question.

Give answer c) if the data either in Statement | alone or in Statement Il alone are sufficient to answer
the question.

Give answer d) if the data in both the Statements | and Il together are not sufficient to answerthe
question.

Give answer e) if the data in both the Statements | and Il together are necessary to answer.

Q.81. What is Nidhi's age?
I. Nidhi is 3 times younger to Rani.
Il. Surekha is twice the age of Rani and the Sum of their ages is 72.

Q.82. What is ratio of the total number of girls to the total number of boys in the school?
I. The ratio of the total number of boys to the total number of girls, last year was 4 : 5.
Il. There are 3500 students in the school out of which 60% are boys.

Q.83. What is the speed of the bus?
l. The bus covers a distance of 80 kms. in 5 hrs.
Il. The bus covers a distance of 160 kms. in 10 hrs.

Q.84. What is the ratio of the number of freshers to the number of seniors in a college?
I. The ratio of males and females in the college is 2 : 3

Il. There are 1125 female freshers in the college.

Q.85. What is Mr. Mehta's present income?
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I. Mr. Mehta's income increases by 10% every year.
Il. His income will increase by Rs. 2500 this year.

Study the following graph carefully to answer these questions.

Production of Commodities X & Y over the years|:| X D Y

350
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200 225 | .

200
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150 150

PRODUCTION IN LAKH TONNES

50 - - — - — — — i
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Q.86. For which of the following pair of year the total production of the two commodities together is
equal?

a) 1997 & 2000

b) 2002 & 2003

c) 2001 & 2003

d) 1998 & 1999

e) 1998 & 2000

Q.87. What is the respective ratio between total production of commodities X & Y respectively for all
the seven years together?

a) 26 : 27

b)13:14

€)27 :26

d)14:13

e) None of these

Q.88. During which year the percentage increase/decrease in production of commodity ‘X’ from the
previous year was themaximum?

a) 1998

b) 2000

c) 2003

d) 2002

e) None of these

Q.89. Approximately, what was the average production (in lakh tonnes) of commodity ‘Y’?
a) 225
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b) 216
c) 195
d) 185
e) 205

Q.90. What is the ratio between total production of the two commodities together for years 1997, 1998
&1999andthe total productionof the twocommodities together for years2001,2002&2003respectively?
a)9:13

b)13:18

c)18:13

d)10:13

e) None of these

Q.91. The owner of a furniture shop charges his customers 12%more than the cost price. If a customer
paid Rs. 14056 for a dining table, what is the cost price of the dining table?

a) Rs. 14000

b) Rs. 12500

c) Rs. 13450

d) Rs. 11550

e) None of these

Q.92. The difference between 55%of a number and 25%of the same number is 11.10.What is 75% of
that number?

a) 27.75

b) 37

c)21.25

d) 45

e) None of these

Q.93. The product of two successive numbers is 1980.Which is the smaller number?
a) 34

b) 44

c) 35

d) 45

e) None of these

Q.94. Which of the following smallest number should be added to 41116 to make it exactly divisible by
8?

a)8

b) 5

c)4

d) 12

e) None of these

Q.95. The difference between%thof%th of a number and%th ofithof the same number is 5.What is the

number?
a) 25
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b) 40
c) 45
d) 50
e) None of these

Q.96-100. Study the following table carefully to answer these questions.
Marks obtained by Six Students in Different Subjects at School Examination

Subject MARKS
Student History Geography Science Maths English Hindi
(75) (75) (120) (150) (80) (60)

P 45 53 100 117 50 45
Q 56 58 96 132 46 50
T 48 60 112 120 52 42
D 62 67 88 108 48 34
G 66 55 92 140 60 32
F 54 64 108 116 53 40

Q.96. What is the average percentage ofmarks obtained by all the students in Science? (rounded off to
two digits after decimal)

a) 99

b) 82.78

c) 88.72

d) 78.88

e) None of these

Q.97. What is the overall percentage of marks obtained by D in all subjects? (rounded off to two digits
after decimal)

a) 72.88

b) 76.28

c)73.17

d) 72.68

e) None of these

Q.98. What are the average marks obtained by all students in English?
a)52.5

b) 64.38

c) 56.38

d) 60.5

e) None of these

Q.99. What is the ratio between total marks obtained in all subjects by F and G respectively?
a)87:89

b)89 : 87

c)67 : 69

d)69 : 67

e) None of these
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Q.100. Which student has scored in maths closest to the average marks in Maths?
a)P

b) Q

T

d) F

e) None of these

TEST-III

GENERALAWARENESS

Q.101. 13th Finance Commission has been constituted under the chairmanship of-
a) Y.S.P Thorat

b) Vijay L. Kelkar

¢) T.S. Vijayan

d)Lakashmi Mittal

e) None of these

Q.102. International Finance Corporation (IFC) has decided to fund an Ultra Power Project in Gujrat. This
project belongs with which company?

a) Reliance Group

b) TataGroup

c) Birla Group

d) NTPC

e) None of these

Q.103. With which of the following statement associated with, "Sagarmala"?
a) A drilling vessel

b) A project of port development

c) Oil well in Indian Ocean

d) All of the above

e) None of these

Q.104. In which of the following areas Agriculture helps in India?

(A) Foreign Income (B) Employment (C) Foreign Currency (D) IndustrialDevelopment (E) Small Trade.
a) All are true

b) Only A,Band C

c¢)B,CandE

d)B,C,DandE

e) A,B,D and E.

Q.105. With which Kutir Jyoti scheme is associated?

a) Promoting cottage industry in villages

b) Promoting employment among rural unemployed youth

c¢) Providing electricity to rural families living below the poverty line.
d)1,2and3

e) None of these

Q.106. Which of the following does not grant any tax rebate?
a) National Saving Certificate
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b) Indira VikasPatra

c) National Saving Scheme
d) Public Provident Fund
e) None of these

Q.107. What is/are working features of SEBI?
(A) To control the dealings of Share Market.
(B) To check the foul dealings in Share Market
(C) To regulate the inside trading of shares.

a) All are true

b) Only A

c)Only B

d)AandC

e) None of these

Q.108. Which of the following is public sector organization?

(A) FoodCorporation of India (B) Fertilizer Corporation of India (C) Cotton Corporation of India (D) Jute
Corporation of India

a)Only Aand B

b) Only Band C

c)OnlyCandD

d) All are true

e) None of these

Q.109. As per the news published in major newspapers magazines the government of India plans to
invest to build 12,000 km. of National Highways in 2009-10.What is the amount?

a) Rs. 1,30,000

b) Rs. 1,50,000

c) Rs. 1,44,000

d) Rs. 1,00,000

e) None of these

Q.110. What do you mean by Mixed economy?

a) Co-existence of small and large industries.

b) Promoting both Agriculture and Industries in the economy.
c) Co-existence of public and private sectors

d) Co-existence of rich and poor.

e) None of these

Q.111. Navratna public sector NMDC will invest to develop a coal mining project .What is the amount?
a) Rs. 1000 cr.

b) Rs. 1100 cr.

c) Rs. 1200 cr.

d) Rs.1150 cr.

e) None of these

Q.112. The basis of determining dearness allowance to employees in India is -
a) National Income
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b) Consumer Price Index
c) Standard of living

d) Per Capita Income

e) None of these

Q.113. Which of the following statement is/are TRUE about UnorganizedWorker's Social Security Bill?
(A) The Bill provide welfaremeasures for the unorganized worker.

(B) It is a millennium scheme that would cover 34 crore workers in the next five year. Agriculture
workers andmigrant labourers are not covered in this scheme.

(C) This Bill includes around a dozen welfare scheme, saving-cum-relief scheme and family and old-age
benefit schemes.

a) Only A

b) Only B

c)Only C

d)AandC

e) All are true.

Q.114. TheGovernment of India sign an agreementwith theWorldBank forwhich of the following
scheme?

a)SarvaShikshaAbhiyan

b) Mid-dayMeal Scheme

c) PURA

d)Rojgar Guarantee Scheme

e) None of these

Q.115. To which of the following state, Prime Minister announce Rs. 10,000 Cr. package for highway
construction?

a) Arunachal Pradesh

b) Haryana

c)Madhya Pradesh

d) Uttar Pradesh

e) None of these

Q.116. In howmany district the National Rural Employment Guarantee Scheme was extended?
a) 504

b) 604

c) 704

d) 804

e) None of these

Q.117. Which foreign bank has got themaximum number branches in India?
a) ANZ Griendleys Bank

b) Standard Chartered Bank

¢) Hong Kong Banking Corporation

d) Citi Bank

e) None of these
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Q.118. Central issue, price of foodgrains under TPDS includes price for BPL and APL (Below Poverty Line
and Above Poverty Line).What is the difference between two?

a) Price of APL is double of that BPL price

b) Price of BPL is one-third of that APL price.

c) Difference of Rs. 500 per Qt.

d) Difference of Rs. 250 per Qt.

e) None of these

Q.119. Very often in these days we read in various newspapers andmagazines about Deflation. What is
the cause of Deflation?

(A) Lack of goods and services as compared to money supply.

(B) Lack of imports as compared to exports

(C) Lack of money supply as compared to supply of goods and services.

a) All are true

b) Only A and B

c)Only C

d)OnlyBand C

e) None of these

Q.120. Who got the IndiraGandhi International Award 2008 for peace and disarmament?
a)HoshniMubarak

b)Mohammad-El-Baradei

c)PanditBhimsen Joshi

d)Mallika Sarabhai

e) None of these

Q.121. Which of the following is a better measurement of economic development?
a) Employment

b) Size of exports

c) Rural consumption

d) National Income

e) None of these

Q.122. On which day "World Laughter Day" observed?
a) 10 Jan.

b) 22March

c) 3March

d) 8 May

e) None of these

Q.123. At which place "Young Olympic Game 2010" will be organized?
a) Singapore

b) Hyderabad

c) Bengaluru

d) Japan

e) None of these

Q.124. Which of the following organization, whose members countries are ready tomade "Food Bank"?
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a)G-8

b) SAARC

c) IBRD

d) IMF

e) None of these

Q.125. Which of the following river declared as a National river byGovt. of India?
a) The Yamuna

b) The Bramhaputra

c) TheGanga

d) TheGodawari

e) None of these

Q.126. At which of the following state Asia's Third Elephant village is making?
a) Bihar

b) Kerala

c) U.P.

d) Rajasthan

e) None of these

Q.127. What was the theme of 28th International Trade Fair?
a) Environment Security

b) Sustainable Development

c) GlobalWarming

d)Woman Empowerment

e) None of these

Q.128. What is the objective of 'Sangam Yojana'?

a) Tomake GangaWater pollution free

b) Tomake Sangam region ofAllahabadmore attractive for tourists.
c) To ensure welfare of handicapped

d) To unite various groups of Hindus.

e) None of these

Q.129. In which bank/banks Govt. has cent percent share in total capital?

(A) Indian Bank (B) United Bank of India (C) Central Bank of India (D) Punjab & Sindh Bank
a) Only A

b) Aand B

c)ABandC

d) All of the above

e) None of these

Q.130. Onemajor proposal of New Industrial Policy (1991) was -

a) NRIs will not be allowed for capital investment in India.

b) All types of industries have been made license free

c) Import restrictions of technical know-how for year.

d) Facility of direct foreign investment upto 51% in high priority industries.
e) None of these
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Q.131. By which of the following National Income has been estimated in India?
a) Planning commission

b) Finance Commission

¢) Indian Statistical Institute

d) Central Statistical Organization.

e) None of these

Q.132. Which of the following Tennis Tournament has played in Nov-Dec.?
a) Australian Open

b) FrenchOpen

c) U.S. Open

d)Wimbeldon

e) None of these

Q.133. The writers who got first time Gyanpeeth Award for which of the following languages?
a) Konkani & Sanskrit

b) Sanskrit & Malayalam

¢) Malayalam & Konkani

d) All of the above

e) None of these

Q.134. Recently Vimla Dang has died, related to which field?
a) Politics

b) Literature

c) Sports

d) Trade

e) None of these

Q.135. G-8 summit plan to invest to boost agriculture and fight hunger in poorer countries. What was
the amount?

a) $S30 bn

b) S 40 bn

c) $20 bn

d) $10 bn

e) None of these

Q.136. Which of the following person got the Vachaspati Award?
a) Swami Rambhadracharya

b) Indira Sinha

c) Dr. NayyarMasood

d)YashwantVyas

e) None of these

Q.137. Who amongst the following is the new Prime Minister of Israel after the general election?
a) Lieberman

b)TzipiLivini

c) Shimon Peres
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d) Benjamin Netanyahu
e) None of these

Q.138. Who won theWomen's Asia Cup Cricket 2008?
a) Sri Lanka

b) Australia

c) England

d) India

e) None of these

Q.139. With which objective, Kisan Call Centers have been established?
a) To ensure the supply of fertilizers to farmers on suitable rates.

b) Distribution of HYV seeds

c)to provide agriculture credit at concessional rates.

d)to provide consultancy service related to agriculture.

e) None of these

Q.140. Who gotWorld's Best Male Player in a"LaureusWorld Sport Award?
a) Roger Fedrer

b) Justin Henin

c) SerenaWilliams

d) Sergey Bubka

e) None of these

Q.141. Which of the following player made Highest Test Centuries?
a) Vivian Richards

b) Don Bradmen

c) Sunil Gavaskar

d) Sachin Tendulkar

e) None of these

Q.142. Which is the credit rating agency in India?
a)CRISIL

b) CARE

c) ICRA

d) All of the above

e) None of these

Q.143. Name the Indian player/players who announce the retirement from International Cricket?
(A) Anil Kumble(B) SauravGanguly(C)RahulDravid

a) Only A

b) Only C

c)AandB

d)BandC

e) None of these

Q.144. Who wrote the book 'Without Fear The Life and Trail of Bhagat Singh"?
a) Kuldeep Nair
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b) TarunKhanna
¢) Kamal Nath
d) VasantSathe
e) None of these

Q.145. On the recommendation of Jankiraman Commitee, a committee was constituted for improving
transaction method of public sector bonds and mutual funds. Name the committee?

a) Nadkarni Committee

b) Nayak Committee

c) Goiporia Committee

d) Tikku Committee

e) None of these

Q.146. National income on current prices are higher to that of constant prices because -
a) Price increase is equal to increase in production.

b) Price increase is higher to increase in production.

c) Price increase in lower to increase in production.

d) Only decrease in production

e) None of these

Q.147. When did the start SJSRY scheme?
a) Dec 31,1999

b) Dec 1,1996

c) Dec 1,1997

d) Dec 1,1999

e) None of these

Q.148. Which part of the divided UTl is working as mutual fund under SEBI rules?
a) UTT-I

b)UTI -II

c) UTl -legal

d) All of the above

e) None of these

Q.149. Who wrote the book 'In Defence of Globalization?
a) ShashiTharur

b) Mohan Malgonkar

c) JagdishBhagwati

d) Indira Sinha

e) None of these

Q.150. 'Golden Handshake Scheme" is associated with -
a) Inviting foreign companies

b) Private investment in public enterprises

c) Establishing joint enterprises

d) Voluntary retirement

e) None of these
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TEST - IV
ENGLISH LANGUAGE

Read each sentence to find out if there is any error in it. The error, if any will be in one part of the
sentence. The number of that part is the answer. If there is no error the answer is e) (Ignore errors in
punctuation if any).

Q.151. In spite of the extreme cold / she insisted on / taking a trip to Shimla /where is her birthplace.
a)ln spite of the extreme cold

b)she insisted on

c)taking a trip to Shimla

d)where is her birthplace

e)No error

Q.152. The government decision / will benefit all / the software companies registered /under the
scheme.

a)The government decision

b)will benefit all

c)the software companies registered

d)under the scheme

e)No error

Q.153. The trustee has agreed / not only to fund the construction / of the auditorium /but also the
newresearch centre.

a)The trustee has agreed

b)not only to fund the construction

c)of the auditorium

d)but also the newresearch centre

e)No error

Q.154. Keeping in mind the rivalry / between Vinod and Sachin /the manager has assigned him /to
different teams.

a)Keeping in mind the rivalry

b)betweenVinod and Sachin

c)the manager has assigned him

d)to different teams

e)No error

Q.155. In recent times companies have found / the internet to be ideal place / to hire personnel / and
formbusiness partnerships.

a)ln recent times companies have

b)the internet to be ideal place

c)to hire personnel

d)and formbusiness partnerships

e)No error

Q.156. These rules were created / to protect the interests of the student /who live away from
home/and have no local guardian.
a)These rules were created
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b)to protect the interests of the student
c)who live away from home

d)and have no local guardian

e)No error

Q.157. Concerned over / the loss of revenue / theGovernment plan /to reviewthe policy immediately.
a)Concerned over

b)the loss of revenue

c)theGovernment plan

d)to reviewthe policy immediately

e)No error

Q.158. Having heard all the evidence / theChairman should now/ be able to arrive /to a fair decision.
a)Having heard all the evidence

b)theChairman should now

c)be able to arrive

d)to a fair decision

e)No error

Q.159. There are very fewer hotels / providing facilities for /quests who want to bring their pets/ along
with them.

a)There are very fewer hotels

b)providing facilities for

c)quests who want to bring their pets

d)along with them

e)No error

Q.160. The report states that / in several parts of the country / there has not been /adequately rain this
year.

a)The report states that

b)in several parts of the country

c)there has not been

d)adequately rain this year

e)No error

Which of the phrases a), b),c), d) given below each sentence should replace the phraseprinted in bold
type to make the sentence grammatically correct? If the sentence is correct as itis mark e) i.e. ‘No
correction required’ as the answer.

Q.161. The meeting is attempted to mend the strained relations between the management and
theemployees.

a)was attempted for mending

b)is an attempt to mend

c)is attempted at mending of

d)will be attempted bymending

e) No correction required

Q.162. He arrived at the hotel, which a reception was held in his honour.
a)in which a reception is
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b)while a reception being
c)where a reception was
d)since a reception going on
e) No correction required

Q.163. Since his college days he has been standing up with the rights of the weak and the oppressed.
a)stood up along with

b)standing in for

c)for standing beside

d)standing up for

e) No Correction required

Q.164. Unless a man with plenty of money can afford a house in this locality.
a) Until a man has

b)When a man possesses

c) Except a man of

d) Only a man with

e) No correction required

Q.165. They lost the vote because they could not express clearly.
a)express themselves clearly

b)express each other clearly

c)clearly express

d)be clearly expressed

e) No correction required

Q.166. Ramesh must be punished for acting in opposite to my wishes.
a)opposing to

b)in opposite with

c)opposite against

d)in opposition to

e) No correction required

Q.167. India is a diverse and breath taking country with many places worthwhile to see.
a)worth sight

b)worth seeing

c)worthwhile scene

d)worthy seeing

e) No correction required

Q.168. The sales conference cannot be began till the festive season is over.
a)cannot have beginning

b)unable to begin

c)cannot begin

d)has no beginning

e) No correction required

Q.169. It was surprising to note that she enjoyed the game of cricket same as her brother did.
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a)as much as

b)with the same liking as
c)alike

d)same like

e) No correction required

Q.170. They are very much enterprising of all the other students | have taught.
a)so much enterprising like

b)more enterprising than

c)verymuch enterprising than

d)much enterprising of

e) No correction required

Q.171. Taken everything into consideration, we feel that the principal was justified in suspending the
student.

a) Taking all things into considering

b) To take everything with consideration

c) Taking everything into consideration

d)While taking everything for consideration

e) No correction required

Q.172. He succeeded in getting the promotion as he performed well than the other candidates in the
written test.

a)performed best of

b)performed better

c)performance was better

d)performing verywell

e) No correction required

Q.173. The inquiry found that both the secretary and the treasurer had been negligent in their duties.
a)neglecting his duty

b)neglected by their duties

c)neglecting in their duty

d)negligence for their duties

e) No correction required

Q.174. | with my family have resided in a small village near the sea for the past two decades.
a) My family along with | has

b) My family and me have

¢) My family and | have

d) | together with my family has

e) No correction required

Q.175. The channel has brought the rights to the cricket series for a huge sum of money.
a)paid the rights for

b)bought the rights for

c)been paid the rites to

d)bought off the rights
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e) No correction required

Read the following passage carefully and answer the questions given below it. Certain words/phrases
are given in bold to help you to locate them while answering some of the questions.

Aviation is an essential link for travel, trade and connectivity. While full service carriers attract
passengers with the overall quality of their services, low cost airlines compete on cost. Theyoffer bare-
bone services, flymore sectors a day and operate from smaller secondary airports that have lower
charges. These may be very far from the city centres costing passengers more time and money to get
into town. Some services like London's Luton are aimed at eliminating the problems of connecting
flights. They tend to avoid head on competition with each other and prey on full services. Airlines Staff
are usually less well paid, more intensively used and in shorter supply as compared to full service
airlines. There are numerous exceptions though in other countries. Easy jet operates from major
airports and Jet Blue offers live programs for free.

In India 70% of the operating costs of low cost airlines are the same as that of full
servicecarriers, leaving just 30% to juggle with to gain an overall advantage over full service carriers.
Many of these costs like fuel are above global levels. Exorbitant State and Central government taxes and
duties are themain culprits. Air Deccan envisions that their airline fares will match rail fares unattainable
because of the economies of scale that the railways enjoy. Few secondary airports and fares falling
faster than their costs have hurt low cost airlines to utilize non-metro airports at lower charges during
off -peak hours while providing full services airlines peak hour slots but at higher rates could help.

Low cost airlines can aid economic development and the current economic boom has been the right
time to launch India's low cost revolution though in their efforts to achieve economies of scale and
greater market share they have been reckless and have gone deep into the red. India has to await
second-generation low cost airlines to deliver the goods.

Q.176. The primary purpose of low cost airlines is to—
a)provide connectivity at low rates

b)enhance economic development

c)do away with the inconvenience of connecting flights
d)reduce congestion at crowded city airports

e)reduce the passenger pressure on the railways

Q.177. The author's view of Indian low cost airlines is that——

a)they are based on global models allowing them to compete with railways.

b)they benefit from certain exemptions on tax and duties

c)with only 70% of the operating cost being the same as full service airlines they have a major advantage
d)they are loss-making enterprises as their efforts to expand have been hasty

e) None of these

Q.178. Which of the following is/are TRUE in the context of the passage?

(A) Indian low cost carriers though launched at the right time have been mismanged.

(B) Jet Blue is one of the premier full service air carriers in the world

(C) Business for low cost carriers is good enough to allow them to compete with railways.
a) Only (A)

b) Both (A) & (C)

c) Only (B)

d) Both (B) & (C)

e) None of these
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Q.179. Which of the following measures can boost the low cost carrier business?
a) Increasing rail fares to allow low cost carriers a chance to compete.

b) Government should own a stake in low cost airlines.

c) Preference for low cost carriers during peak hours at major airports

d) Developing adequate secondary airports

e) Equivalent charges for full services and low cost airlines at metro airports.

Q.180. The growth of low cost airlines in India has been hampered by—
(A) inadequate airport infrastructure.

(B) attracting and retaining staff in spite of higher pay packages.

(C) costs of providing additional quality services.

a) Only C

b) BothA & B

c) Only A

d) BothB & C

e)AllA,B&C

Q.181. Which of the following is NOT TRUE in the context of the passage?

a) The low cost airline industry has very recently come to India.

b) Full services airlines operate from secondary airports to meet the costs of free services.
c) Indian low cost airlines have not been able to make even a marginal profit.

d) Staff of low cost airlines has longer working hours as compared to full service airlines
e) None of these

Q.182. A benefit of low cost airlines is ——

a)they operate away from crowded cities

b)their fares are more reasonable than rail fares
c)decrease in fares despite a rise in costs

d)efficient bareminimum services at affordable rates
e)utilizing secondary airports despite their higher charges.

Pick out themost effective word from the given words to fill in the blank to make the sentence
meaningfully complete.

Q.186. Youmust ensure the correctness of the information before----------- to conclusion.
a)drawing

b)enabling

c)leaning

d)jumping

e)examining

Q.187. The rocket-------- the target and did not cause any casualty.
a)sensed

b)reached

c)missed

d)exploded

e)aimed
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Q.188. It is desirable to take-------------- in any business if you want to make profit.
a)advice

b)risk

c)loan

d)recourse

e)perseverance

Q.189. Theywasted all themoney on purchase of some--------- items.
a)excellent

b)important

c)significant

d)quality

e)trivial

Q.190. When he found the wallet his face glowed but soon it faded as the wallet was-------------
a)empty

b)vacant

c)recovered

d)stolen

e)expensive

In the following passage, there are blanks, each of which has been numbered. These numbers are
printed below the passage and against each, five words are suggested, one of which fits the blank
appropriately. Find out the appropriate word in each case.

Jamshedji Tata is (191) to be the path-finder of modern industrial builders. He is known as the
grand-father of the Indian industry for his acumen and enthusiasm. Nobody else could have (192) of the
new industries started by Jamshedji at that time when industrial (193) and revolution was yet to come
to India.

Jamshedji's father Nasarvanji Tata used to trade in jutewithChina and Britain.He started (194)
fromlIndia. Jamshedji started a clothmill in Nagpurmore than hundred years ago. At that time almost all
the (195) used to come from Lancashire in England.What Jamshedji (196) was praise worthy.Jamshedji
(197) very well that an industrial revolution can only be brought in the country by setting up iron and
steel industry (198) he did not live to see the industry he had in mind. He had done all (199) work. In
fact, he laid the ground work for it. He had planned the entire steel city now known as Jamshedpur,
complete with streets, roads, schools, parks, play grounds, temples, mosques, churches etc. His (200)
was fulfilled by his sons, Sir Dorabji Tata and Sir Rattan Tata, when they started the Tata Iron & Steel
Factory in 1907 just after three years of his death.

Q.191.
a)rewarded
b)agreed
c)empowered
d)determined
e)considered

Q.192.
a)absolved
b)thought
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c)ventured
d)set
e)planned

Q.193.
a)imports
b)acts
c)machinery
d)awakening
e)factories

Q.194.
a)export
b)industries
c)import
d)trade
e)dispatch

Q.195.
a)goods
b)imports
c)cloth
d)machines
e)industries

Q.196.
a)did
b)dreamt
c)agreed
d)told
e)meant

Q.197.
a)felt
b)advocated
c)planned
d)thought
e)knew

Q.198.
a)Becasue

b) Although
c) Surprisingly
d) Luckily

e) Even

Q.199.
a) Insignificant
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b)complete
c)trivial

d) preliminary

e)external

Q.200.
a)need
b)task
c)dream
d)industry

e)sentiment
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